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Clues for Logic Puzzle: D479VI

1. Walter isn't playing for the Giants.

2. The person from York graduated 1 year after the person who's now with the Cubs.

3. Of Ivan and the person who's now with the Angels, one is from Santa Paula and the other is from Zamora.
4. The person who graduated in 2008 is now with the Reds.

5. Walter is either the person from Wallagrass or the player who graduated in 2010.

6. The player who graduated in 2010 is either the person who's now with the Brewers or Tom.

7. The six players are Tom, the player who's now with the Tigers, the player who's now with the Giants, the
player from Zamora, the person from Bradbury and the player who graduated in 2009.

8. Zachary graduated after the player from Bradbury.
9. Walter graduated after the person from Zamora.
10. Bradley graduated after the person who's now with the Giants.

11. The person from Vincent graduated 4 years after the player who's now with the Cubs.
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